10 9 8 7 6 5 4 \ 3 \ 2 \ 38780

A
~ 4.0
16
| i
]/
- | | | \ . -
ollallay pllallol
107 210
42 83
@ ! , I I
~ L || || il 4 CIRCUIT SHOWN
/ /
457
W“J“-“Wp L ® ~5o4 MTG. HOLES
438 438 ' '
(5 28.6
8.8
88 vp - 113
.35
| |
9.1 e -
= ‘ i > 2 i i % 23 REF. -50 OPT. SCREW
’ | I | ? i (WHERE APPLICABLE)
123
48 ‘ ; ‘ ‘
* $ NOTES:
@4,1 1. MATERIAL: SEE TABLE
254 032 2. FINISHES: SEE TABLE
2% ryp o 8.9 3. PRODUCT SPECIFICATION: NOT REQUIRED
100 % 4, PACKAGING: NOT REQUIRED
850 I 5. MATES WITH: N/A
EEE 6. "XX'REFERS TO THE QUANTITY OF CIRCUITS.
‘E ~ 5 QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
SS5| (A L EYs sPEhIED) MM/IN 21 NCH | © CIpROECTION
6 | XX [SCREWSWASHER. #6-32X250 BHD, PH-SL (50 OPTI| STEEL N, CLEAR CHROMATE| _ S S 3| P o NCH | ORAWN &Y DATE —TTITLE
N = o o "
5 | XX |SCREW, #6-32X250 PAN, PH-SL (-49 OPT) |BRASS NICKEL PLATE S 55520 [ZPLACES[E—- [£.000Z [C. YORK 2006/02/ 14 111 [.438"] DR BTS
5 E 3 PLACES £ 0,005 |+.005 _|CHECKED BY DATE ASSY, CB
4 | XX [SCREW. #6-32X.250 BHD. PHL-SLOT (STD) |[STEEL IN QLEAR CGROMATE| 2 |EING7=0 [7 PLACES[E0.3 |£.01 R DEROSS  2006/02/14
3 | XX [TERMINAL, SOLDER Y BRASS TIN PLATE Do =838 TPLACE |£0.25 |f-—  |[APPROVED BY DATE
NESEE ANGULAR <1775 R. DEROSS  2006/02/14 @ MOLEX INCORPORATED
2 XX | TERMINAL, PLATE BRASS NICKEL PLATE W ; E ?é MATERIAL NO DOCUMENT NO SHEET NO.
=
7| 1 |INSULATOR, (B BTS, AS MO. PBT, 30% GF  |BLACK mo==% DRAFT WHERE APPLICABLE) SEE SHEET 2 |SD-38780-002 1 OF 2
EosSo< TR a0k s SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
mem |ary. | oescreTioN MATERIAL FINISH A g B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. B 5005/7105 9 8 7 | 6 5 4 | 3 | 2 | 1




10 9 8 7 6 5 4 3 2 \ 38780

NO. OF DM, DM, DIM, MATERIAL NO. | MATERIAL NO. | MATERIAL NO.
CRC. XX A B ' (STD) (-49 OPT) (-50 OPT)
02 A3 T [mm  [438] 3334 [1303] 36780-1102 36780-1207 38760-2602
03 524 [206]  [2203 (875 4445 [1750] 367801103 367801203 387802603
04 635 [250] [3334 _[13B] 5556 [2188] 36780-1104 36780-1204 38780-2604
05 746 (294]  [4b45 117501 6668  (2.625] 36780-1105 38780-1205 38780-2605
06 857  [337] [5556  [2188]  [7779  [3.063] 36780-1106 36780-1206 387802606
07 968 (381 |6668 [2625]  [88.90 _ [3500] 367801107 367801207 387802607
08 1079 (425] {7779 (3.063]  [10001 [3.938] 36780-1108 38780-1208 38780-2608
09 190 [469] [8890 (35000 |3 [4375] 36780-1109 36780-1209 38780-2603
0 1302 (512 10001 (3938] 1224 [4803] 367801110 367801210 387802610
1 1413 [556] M3 [4375] 13335 [5.250] 367801111 367801211 38780 2611
7 524 [600] |12224 (48]  [t44u6 [5688] 367801117 367801212 387802617
E 1635 (644 [13335 [5250]  [15556 [6.125] 367801113 387801213 387802613
% 1746 [687] |144d6 (5688 16660 [6563] 367801112 367801214 387802614
5 1857 (731 |15558 [6125]  |177.80 [7.000] 367801115 38780-1215 38780-2615
1 1968 [775] 16669 (6563 16691 (7.438] 36780-1116 38780-1216 38780-2616
7 2079 __[8%9] _[17780 (70001 20003 [7.875] 367801117 38780-1217 38780-2617
1 291 (8621 |18691 (7.438]  [71114  [8.303] 367801118 387801218 387802618
1 2302 [906] _|20003 [7.875] 5 [8750] 367801119 367601219 387802619
20 2413 (9501|2114 [83B3] 23336 [9.188] 36780-1120 36780-1220 387802620
2 2524 1994] 5 [8750] | 24448 [9625] 36780-1171 38780-1221 38780-2671
22 2635 [1037] |23336 [9188] 25550 [10.063] 367801122 367801227 387802622
23 27746 (1081 | 24448 [9625] 26670 [10500] 36780-1123 36780-1223 387802673
24 2857 (M25] [25550 [10063] |27781 [10.938] 367801124 367801224 38780 2674
25 2968 (11691 |26670 _[10500] 26893 [1375] 367801175 367801225 387802625
26 3080 [1212] |27781 [10938] |30004 [18%3] 36780-1126 38780-1226 387802626
77 3191 [1256] |28893 (13751  [31145  [12.250] 367801177 367801227 387802677
28 3302 (13001 |30004 [18B] 32226 [12.688] 38780-1128 387801228 387802678
29 3413 (1344 31005 (122501 33338 [13125] 367801179 387801229 3878026729
30 3524 (13871 |32226 (126881 34449 [13563] 367801130 367801230 387802630
‘E: 5 GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS THIRD AN GLE
sss SYU@B%E (UNLESS SPECIFIED) MM/IN 2:1 ‘ INCH ©d ROJECT
b SSS| = mm INCH DRAWN BY DATE TITLE )
N SSS|z|W-0 [TPACESE—- |£.000Z 0. YORK  2006/02/14 111 [438°] DR BTS
—d 5 3 PLACES[£0.005 |+.005 |CHECKED 87 DATE ASSY, (B
S ok W:o 2 PLACES 013 |+ .01 R. DEROSS  2006/02/14
H O .L.Egll TPLACE |F025 |£-— APPROVED BY DATE n(‘\
TLSEE ANGULAR 21725 R. DER0SS  2006/02/1¢/Rotex MOLEX INCORPORATED
U) L) D O
% et MATERIAL NO DOCUMENT NO SHEET NO.
i Z¥e DRAFT WHERE APPLICABLE) SEE CHART | SD-38780-002 2 OF 2
noso< TR a0k s SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A 2 INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. © 7005/ T2/08 9 8 7 | 6 5 4 | 3 | 2 | 1




10 9 8 7 6 5 4 \ 3 \ 2 \ 38780

A
~ 4.0
16
| i
]/
- | | | \ . -
ollallay pllallol
107 210
42 83
@ ! , I I
~ L || || il 4 CIRCUIT SHOWN
/ /
457
W“J“-“Wp L ® ~5o4 MTG. HOLES
438 438 ' '
(5 28.6
8.8
88 vp - 113
.35
| |
9.1 e -
= ‘ i > 2 i i % 23 REF. -50 OPT. SCREW
’ | I | ? i (WHERE APPLICABLE)
123
48 ‘ ; ‘ ‘
* $ NOTES:
@4,1 1. MATERIAL: SEE TABLE
254 032 2. FINISHES: SEE TABLE
2% ryp o 8.9 3. PRODUCT SPECIFICATION: NOT REQUIRED
100 % 4, PACKAGING: NOT REQUIRED
850 I 5. MATES WITH: N/A
EEE 6. "XX'REFERS TO THE QUANTITY OF CIRCUITS.
‘E ~ 5 QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
SS5| (A L EYs sPEhIED) MM/IN 21 NCH | © CIpROECTION
6 | XX [SCREWSWASHER. #6-32X250 BHD, PH-SL (50 OPTI| STEEL N, CLEAR CHROMATE| _ S S 3| P o NCH | ORAWN &Y DATE —TTITLE
N = o o "
5 | XX |SCREW, #6-32X250 PAN, PH-SL (-49 OPT) |BRASS NICKEL PLATE S 55520 [ZPLACES[E—- [£.000Z [C. YORK 2006/02/ 14 111 [.438"] DR BTS
5 E 3 PLACES £ 0,005 |+.005 _|CHECKED BY DATE ASSY, CB
4 | XX [SCREW. #6-32X.250 BHD. PHL-SLOT (STD) |[STEEL IN QLEAR CGROMATE| 2 |EING7=0 [7 PLACES[E0.3 |£.01 R DEROSS  2006/02/14
3 | XX [TERMINAL, SOLDER Y BRASS TIN PLATE Do =838 TPLACE |£0.25 |f-—  |[APPROVED BY DATE
NESEE ANGULAR <1775 R. DEROSS  2006/02/14 @ MOLEX INCORPORATED
2 XX | TERMINAL, PLATE BRASS NICKEL PLATE W ; E ?é MATERIAL NO DOCUMENT NO SHEET NO.
=
7| 1 |INSULATOR, (B BTS, AS MO. PBT, 30% GF  |BLACK mo==% DRAFT WHERE APPLICABLE) SEE SHEET 2 |SD-38780-002 1 OF 2
EosSo< TR a0k s SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
mem |ary. | oescreTioN MATERIAL FINISH A g B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. B 5005/7105 9 8 7 | 6 5 4 | 3 | 2 | 1




10 9 8 7 6 5 4 3 2 \ 38780

NO. OF DM, DM, DIM, MATERIAL NO. | MATERIAL NO. | MATERIAL NO.
CRC. XX A B ' (STD) (-49 OPT) (-50 OPT)
02 A3 T [mm  [438] 3334 [1303] 36780-1102 36780-1207 38760-2602
03 524 [206]  [2203 (875 4445 [1750] 367801103 367801203 387802603
04 635 [250] [3334 _[13B] 5556 [2188] 36780-1104 36780-1204 38780-2604
05 746 (294]  [4b45 117501 6668  (2.625] 36780-1105 38780-1205 38780-2605
06 857  [337] [5556  [2188]  [7779  [3.063] 36780-1106 36780-1206 387802606
07 968 (381 |6668 [2625]  [88.90 _ [3500] 367801107 367801207 387802607
08 1079 (425] {7779 (3.063]  [10001 [3.938] 36780-1108 38780-1208 38780-2608
09 190 [469] [8890 (35000 |3 [4375] 36780-1109 36780-1209 38780-2603
0 1302 (512 10001 (3938] 1224 [4803] 367801110 367801210 387802610
1 1413 [556] M3 [4375] 13335 [5.250] 367801111 367801211 38780 2611
7 524 [600] |12224 (48]  [t44u6 [5688] 367801117 367801212 387802617
E 1635 (644 [13335 [5250]  [15556 [6.125] 367801113 387801213 387802613
% 1746 [687] |144d6 (5688 16660 [6563] 367801112 367801214 387802614
5 1857 (731 |15558 [6125]  |177.80 [7.000] 367801115 38780-1215 38780-2615
1 1968 [775] 16669 (6563 16691 (7.438] 36780-1116 38780-1216 38780-2616
7 2079 __[8%9] _[17780 (70001 20003 [7.875] 367801117 38780-1217 38780-2617
1 291 (8621 |18691 (7.438]  [71114  [8.303] 367801118 387801218 387802618
1 2302 [906] _|20003 [7.875] 5 [8750] 367801119 367601219 387802619
20 2413 (9501|2114 [83B3] 23336 [9.188] 36780-1120 36780-1220 387802620
2 2524 1994] 5 [8750] | 24448 [9625] 36780-1171 38780-1221 38780-2671
22 2635 [1037] |23336 [9188] 25550 [10.063] 367801122 367801227 387802622
23 27746 (1081 | 24448 [9625] 26670 [10500] 36780-1123 36780-1223 387802673
24 2857 (M25] [25550 [10063] |27781 [10.938] 367801124 367801224 38780 2674
25 2968 (11691 |26670 _[10500] 26893 [1375] 367801175 367801225 387802625
26 3080 [1212] |27781 [10938] |30004 [18%3] 36780-1126 38780-1226 387802626
77 3191 [1256] |28893 (13751  [31145  [12.250] 367801177 367801227 387802677
28 3302 (13001 |30004 [18B] 32226 [12.688] 38780-1128 387801228 387802678
29 3413 (1344 31005 (122501 33338 [13125] 367801179 387801229 3878026729
30 3524 (13871 |32226 (126881 34449 [13563] 367801130 367801230 387802630
‘E: 5 GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS THIRD AN GLE
sss SYU@B%E (UNLESS SPECIFIED) MM/IN 2:1 ‘ INCH ©d ROJECT
b SSS| = mm INCH DRAWN BY DATE TITLE )
N SSS|z|W-0 [TPACESE—- |£.000Z 0. YORK  2006/02/14 111 [438°] DR BTS
—d 5 3 PLACES[£0.005 |+.005 |CHECKED 87 DATE ASSY, (B
S ok W:o 2 PLACES 013 |+ .01 R. DEROSS  2006/02/14
H O .L.Egll TPLACE |F025 |£-— APPROVED BY DATE n(‘\
TLSEE ANGULAR 21725 R. DER0SS  2006/02/1¢/Rotex MOLEX INCORPORATED
U) L) D O
% et MATERIAL NO DOCUMENT NO SHEET NO.
i Z¥e DRAFT WHERE APPLICABLE) SEE CHART | SD-38780-002 2 OF 2
noso< TR a0k s SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A 2 INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. © 7005/ T2/08 9 8 7 | 6 5 4 | 3 | 2 | 1




